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Section A (6,0 points)

Listen to the four conversations twice and mark the letter A, B, C, or D on your answer sheet for each of
the following questions from 1 to 4.
Question 1: Which T-shirt does John want?

A. a T-shirt with dinosaurs B. a T-shirt with blue and yellow spots

C. a T-shirt with flags D. a T-shirt with blue and red spots
Question 2: What fruit is Mum eating?

A. a pineapple B. a watermelon C. a mango D4a melon
Question 3: What time are they going to meet Aunt Emma?

A. at 4.00 p.m. B. at 3.00 p.m. C.at3.45 p.m, D. at 3.30 p.m.
Question 4: Where are they going to meet Aunt Emma?

A. in a park B. in a bookshop C.in a restaurant D. in a supermarket

Martin and Ana work together in Singapore. Listen to their conversation twice and mark the letter A or
B on your answer sheet for each of the following questions from 5 to 8.
Question 5: Ana started her job a monthea@go.

A. True B. False
Question 6: She worked on réception.

A. True B. False
Question 7:+8he is from\Brazil:

A. False B. True
Question 8: She used to work in London.

A. True B. False

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
Jfollowing questions from 9 to 10.

Question 9: When we were on the phone, the cross line was ____ because of a wrong connection.
A. continued B. obtained C. harboured D. interrupted
Question 10: This is the first time I __ Thailand.
A. have visited B. visit C. visited D. had visited

Question 11: Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in
meaning to the underlined word in the following question.

TV presents information in a more effective way.

A. entertains B. produces C. introduces D. receives
Question 12: Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in
meaning to the underlined word in the following question.

They tried to find a way of improving their life.

A. achieving B. worsening C. bettering D. changing
Question 13: Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following options.

A. other B. father C. prefer D. teacher
Question 14: Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following options.

A. stimulate B. profession C. glorious D. camcorder

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 15 to 18.

Robert Edwards was blinded in an automobile accident nine years ago. He was also partially deaf because
of old age. Last week, he was strolling near his home when a thunderstorm approached. He took refuge under
a tree and was struck by lightning. He was knocked to the ground and woke up some 20 minutes later lying
face down in water below a tree. He went into the house and lay down in bed.
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A short time later, he awoke, his legs were numb and he was trembling, but when when he opened his eyes,
he could see the clock across the room fading in and out in front of him. When his wife entered, he saw her for
" the first time in nine years. Doctors confirmed that he had regained his sight and hearing apparently from the
flash of lightning but they were unable to explain the occurrence. The only possible explanation offered by
one trauma in a terrible accident, perhaps the only way it could be restored was by another trauma.

Question 15: What caused Robert Edwards’s blindness?

A. He was in a car accident. B. He was struck by lightning.

C. He was very old. D. He fell down in his yard.
Question 16: What was the first thing he saw after being struck by lightning?

A. lightning B. his wife C. atree D. a clock

Question 17: Which of the following statements is NOT true?

A. Doctors believe that Edwards was never really blind or deaf.

B. Edwards had been blind for nine years.

C. Edwards was unconscious for twenty minutes after the lightning had struck him.

D. Edwards awoke with his face in a puddle of water.

Question 18: What was the reason given by doctors when Edwards regainedhim sight?

A. The lightning took the feeling from his legs and gave feeling in his €yes.

B. He regained his sight from the head injury when he fell from a tree.

C. He was very happy after his wife entered the room for the fitst timein nine years.

D. Because the trauma that blinded him was very séveresit togk another very severe trauma to restore his
sight.

Read the following passage and mark the letter\A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each’of the numbered blanks from 19 to 22.

In American high school, students move ftom one class to another and study each subject with a different
teacher and a different group6f elassmates"Many high schools have a tracking system, which groups students
according (19)____ academie"ability’and motivation. (20)___, more capable and hard-working students take
more difficulf’courses. (21) " on the subject, classes may be offered at two, three or even four different
ability levels) High school students have a very busy day. They have to take five or six academic subjects, do
physical education;*and take part in the school band, school newspaper, athletics, drama or clubs. However,

these school (22)  are worth doing because they help them to develop talents and gain greater self-
confidence.

Question 19: A. for B.on C.to D. in

Question 20: A. Because B.If C. However D. Therefore

Question 21: A. Agreeing B. Depending C. Talking D. Objecting

Question 22: A. actively B. activity C. active D. activities

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each of the following questions from 23 to 24.
Question 23: She avoided to talk to me because she thought that I tried to tell a lie to her.

A. to talk B. because C. thought D. to tell
Question 24: The rich often finds it extremely easy to earn money.

A. to earn B. extremely C. often D. finds
Section B (2,0 points)

L Finish each of the following sentences in such a way that it means the same as the sentence printed
before it. Write your answers on your answer sheet. (0,5 point)

Question 1: The farmers have cut a lot of trees for firewood.

D ALt e

Question 2: I took Alice out for dinner last night.

D WHEI .ottt ?

II. Write a paragraph (about 80 — 100 words) on your answer sheet about the disadvantages of living in
the countryside. (1,5 points)

The following prompts might be helpful to you.

- Lack of entertainment and health medical care services

- Poor quality of education

- Fewer chances of finding jobs

THE END.
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Section A (6,0 points)

Listen to the four conversations twice and mark the letter A, B, C, or D on your answer sheet for each of
the following questions from 1 to 4.
Question 1: Which T-shirt does John want?

A. a T-shirt with blue and red spots B. a T-shirt with dinosaurs

C. a T-shirt with flags D. a T-shirt with blue and yellow spots
Question 2: What fruit is Mum eating?

A. a pineapple B. a mango C. amelon D. a watermelon
Question 3: What time are they going to meet Aunt Emma?

A. at 3.00 p.m. B. at 4.00 p.m. C. at 3.30 p.m; D.at 3:45 p.m.
Question 4: Where are they going to meet Aunt Emma?

A. in a bookshop B. in a supermarket C. in arestaurant D. in a park

Martin and Ana work together in Singapore. Listen go'their/conversation twice and mark the letter A or
B on your answer sheet for each of the following questions from'S to 8.
Question 5: Ana started her job a month ago.

A. False B. True
Question 6: She worked on reception.

A. True B. False
Question 7: She is from Brazil.

A. True B. False
Question 8: Sheused to work in London.

A. False B. True

Question 9: Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in
meaning to the underlined word in the following question.

TV presents information in a more effective way.

A. receives B. produces C. introduces D. entertains

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 10 to 13.

In American high school, students move from one class to another and study each subject with a different
teacher and a different group of classmates. Many high schools have a tracking system, which groups students
according (10)____ academic ability and motivation. (11)____, more capable and hard-working students take
more difficult courses. (12) ___ on the subject, classes may be offered at two, three or even four different
ability levels. High school students have a very busy day. They have to take five or six academic subjects, do
physical education, and take part in the school band, school newspaper, athletics, drama or clubs. However,

these school (13) __ are worth doing because they help them to develop talents and gain greater self-
confidence.

Question 10: A. on B. to C.in D. for

Question 11: A. If B. Because C. Therefore D. However

Question 12: A. Agreeing B. Talking C. Depending D. Objecting

Question 13: A. actively B. active C. activity D. activities

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 14 to 17.

Robert Edwards was blinded in an automobile accident nine years ago. He was also partially deaf because
of old age. Last week, he was strolling near his home when a thunderstorm approached. He took refuge under
a tree and was struck by lightning. He was knocked to the ground and woke up some 20 minutes later lying
face down in water below a tree. He went into the house and lay down in bed.

A short time later, he awoke, his legs were numb and he was trembling, but when when he opened his eyes,
he could see the clock across the room fading in and out in front of him. When his wife entered, he saw her for
the first time in nine years. Doctors confirmed that he had regained his sight and hearing apparently from the
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flash of lightning but they were unable to explain the occurrence. The only possible explanation offered by
one trauma in a terrible accident, perhaps the only way it could be restored was by another trauma.
Question 14: What was the first thing he saw after being struck by lightning?

A. lightning B. his wife C. atree D. a clock
Question 15: Which of the following statements is NOT true?

A. Edwards had been blind for nine years.

B. Doctors believe that Edwards was never really blind or deaf.

C. Edwards awoke with his face in a puddle of water.

D. Edwards was unconscious for twenty minutes after the lightning had struck him.
Question 16: What caused Robert Edwards’s blindness?

A. He was struck by lightning. B. He was very old.

C. He was in a car accident. D. He fell down in his yard.
Question 17: What was the reason given by doctors when Edwards regained him sight?

A. He regained his sight from the head injury when he fell from a tree.

B. Because the trauma that blinded him was very severe, it took another very severe trauma {0 restore his
sight.

C. He was very happy after his wife entered the room for the first time instine years.

D. The lightning took the feeling from his legs and gave feeling in his eyes.

Mark the letter A, B, C, or D on your answer sheet tosindicate, the \corréct answer to each of the
Jfollowing questions from 18 to 19.

Question 18: When we were on the phone, the cross line'was _ [ because of a wrong connection.
A. harboured B. continued C. interrupted D. obtained
Question 19: This is the first time I __ Thailand.
A. have visited B. had visitéd C. visit D. visited

Question 20: Mark the letter AJ\B, C, or D on your answer sheet to indicate the word OPPOSITE in
meaning to the underlined word in'the following question.

They tried to find asway of improving their life.

A. achieving B. bettering C. changing D. worsening

Mark the'letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each of the following questions from 21 to 22.
Question 21: She avoided to talk to me because she thought that I tried to tell a lie to her.

A. to talk B. because C. thought D. to tell
Question 22: The rich often finds it extremely easy to earn money.
A. to earn B. extremely C. often D. finds

Question 23: Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following options.

A. stimulate B. profession C. glorious D. camcorder
Question 24: Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following options.

A. prefer B. other C. teacher D. father

Section B (2,0 points)

L Finish each of the following sentences in such a way that it means the same as the sentence printed
before it. Write your answers on your answer sheet. (0,5 point)

Question 1: The farmers have cut a lot of trees for firewood.

L N = S N

Question 2: [ took Alice out for dinner last night.

D O When ..o e e rees ?

II. Write a paragraph (about 80 — 100 words) on your answer sheet about the disadvantages of living in
the countryside. (1,5 points)

The following prompts might be helpful to you.

- Lack of entertainment and health medical care services

- Poor quality of education

- Fewer chances of finding jobs

THE END.
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Section A (6,0 points)

Listen to the four conversations twice and mark the letter A, B, C, or D on your answer sheet for each of
the following questions from 1 to 4.
Question 1: Which T-shirt does John want?

A. a T-shirt with blue and red spots B. a T-shirt with blue and yellow spots

C. a T-shirt with dinosaurs D. a T-shirt with flags
Question 2: What fruit is Mum eating?

A. a melon B. a mango C. a watermelon D. a pineapple
Question 3: What time are they going to meet Aunt Emma?

A. at 3.00 p.m. B. at 4.00 p.m. C. at 3.30 p.m; D.at 3.45 p.m.
Question 4: Where are they going to meet Aunt Emma?

A. in a bookshop B. in a restaurant C. in a supermazket D. in a park

Martin and Ana work together in Singapore. Listen t0'their/conversation twice and mark the letter A or
B on your answer sheet for each of the following questions from'5 to 8.
Question 5: Ana started her job a month ago.

A. True B. False
Question 6: She worked on reception.

A. False B. True
Question 7: She is from Brazil.

A. True B. False
Question 8: Sheused to work in London.

A. False B. True

Question 9: Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following options.

A. profession B. camcorder C. stimulate D. glorious
Question 10: Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following options.

A. prefer B. teacher C. father D. other
Question 11: Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in
meaning to the underlined word in the following question.

TV presents information in a more effective way.

A. receives B. introduces C. entertains D. produces
Question 12: Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in
meaning to the underlined word in the following question.

They tried to find a way of improving their life.

A. achieving B. bettering C. changing D. worsening

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each of the following questions from 13 to 14.
Question 13: She avoided to talk to me because she thought that I tried to tell a lie to her.

A. because B. to talk C. thought D. to tell
Question 14: The rich often finds it extremely easy to earn money.
A. to earn B. extremely C. finds D. often

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 15 to 18.

In American high school, students move from one class to another and study each subject with a different
teacher and a different group of classmates. Many high schools have a tracking system, which groups students
according (15)___ academic ability and motivation. (16)___, more capable and hard-working students take
more difficult courses. (17)____ on the subject, classes may be offered at two, three or even four different
ability levels. High school students have a very busy day. They have to take five or six academic subjects, do
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physical education, and take part in the school band, school newspaper, athletics, drama or clubs. However,

these school (18)  are worth doing because they help them to develop talents and gain greater self-
confidence.

Question 15: A. on B. in C.to D. for

Question 16: A. However B. Therefore C.If D. Because

Question 17: A. Agreeing B. Talking C. Objecting D. Depending

Question 18: A. actively B. activity C. activities D. active

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
Jfollowing questions from 19 to 20.

Question 19: When we were on the phone, the cross line was ____ because of a wrong connection.
A. obtained B. continued C. interrupted D. harboured
Question 20: This is the first time I __ Thailand.
A. have visited B. visited C. visit D. had visited

Read the following passage and mark the letter A, B, C, or D on your answer sheet to_indicate the
correct answer to each of the questions from 21 to 24.

Robert Edwards was blinded in an automobile accident nine years ago. He was also partially'deafbecause
of old age. Last week, he was strolling near his home when a thunderstorm.approached. He took refuge under
a tree and was struck by lightning. He was knocked to the ground and woke up some 20 minutes later lying
face down in water below a tree. He went into the house and lay.down in bed.

A short time later, he awoke, his legs were numb and he was trembling; but when when he opened his eyes,
he could see the clock across the room fading in and out infront 6f him. When his wife entered, he saw her for
the first time in nine years. Doctors confirmed thathe had regained his sight and hearing apparently from the
flash of lightning but they were unable to explain the,occurrence. The only possible explanation offered by
one trauma in a terrible accident, perhapsithe only way it could be restored was by another trauma.

Question 21: Which of the following statements'is NOT true?

A. Edwards awoke with, his face in a puddle of water.

B. Edwards was uneonscious for twenty minutes after the lightning had struck him.

C. Doctors believe that Edwards was never really blind or deaf.

D. Edwards had been blind for nine years.

Question 22: \What was the reason given by doctors when Edwards regained him sight?

A. Because the trauma that blinded him was very severe, it took another very severe trauma to restore his
sight.

B. He regained his sight from the head injury when he fell from a tree.

C. He was very happy after his wife entered the room for the first time in nine years.

D. The lightning took the feeling from his legs and gave feeling in his eyes.

Question 23: What caused Robert Edwards’s blindness?

A. He fell down in his yard. B. He was very old.

C. He was struck by lightning. D. He was in a car accident.
Question 24: What was the first thing he saw after being struck by lightning?

A. lightning B. his wife C. atree D. a clock
Section B (2,0 points)

L Finish each of the following sentences in such a way that it means the same as the sentence printed
before it. Write your answers on your answer sheet. (0,5 point)

Question 1: The farmers have cut a lot of trees for firewood.

s D S L —— o S

Question 2: I took Alice out for dinner last night.

S NVIREHN . . . -5 coe s s 3wt o+ B b Bngrwngis s o e e s v womsass ?

II. Write a paragraph (about 80 — 100 words) on your answer sheet about the disadvantages of living in
the countryside. (1,5 points)

The following prompts might be helpful to you.

- Lack of entertainment and health medical care services

- Poor quality of education

- Fewer chances of finding jobs

THE END.
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Section A (6,0 points)
Listen to the four conversations twice and mark the letter A, B, C, or D on your answer sheet for each of

the following questions from 1 to 4.
Question 1: Which T-shirt does John want?

A. a T-shirt with blue and yellow spots B. a T-shirt with flags

C. a T-shirt with dinosaurs D. a T-shirt with blue and red spots
Question 2: What fruit is Mum eating?

A. a watermelon B. a melon C. a pineapple D. amango
Question 3: What time are they going to meet Aunt Emma?

A. at 3.45 p.m. B. at 3.30 p.m. C. at 4.00 p.m; D.'at 3.00 p.m.
Question 4: Where are they going to meet Aunt Emma?

A. in a park B. in a supermarket C. in a restaurant D. in a bookshop

Martin and Ana work together in Singapore. Listen to'their/conversation twice and mark the letter A or
B on your answer sheet for each of the following questions fronv'5 to 8.
Question 5: Ana started her job a month ago.

A. False B. True
Question 6: She worked on reception.

A. False B. True
Question 7: She is from Brazil.

A. False B. True
Question 8: Shewsed to work in London.

A. True B. False

Question 9: Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in
meaning to the underlined word in the following question.

They tried to find a way of improving their life.

A. achieving B. worsening C. changing D. bettering
Question 10: Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following options.

A. other B. father C. teacher D. prefer
Question 11: Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following options.

A. glorious B. camcorder C. stimulate D. profession

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each of the following questions from 12 to 13.
Question 12: She avoided to talk to me because she thought that I tried to tell a lie to her.

A. because B. to talk C. thought D. to tell
Question 13: The rich often finds it extremely easy to earn money.
A. to earn B. extremely C. finds D. often

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 14 to 17.

Robert Edwards was blinded in an automobile accident nine years ago. He was also partially deaf becausc
of old age. Last week, he was strolling near his home when a thunderstorm approached. He took refuge under
a tree and was struck by lightning. He was knocked to the ground and woke up some 20 minutes later lying
face down in water below a tree. He went into the house and lay down in bed.

A short time later, he awoke, his legs were numb and he was trembling, but when when he opened his eyes,
he could see the clock across the room fading in and out in front of him. When his wife entered, he saw her for
the first time in nine years. Doctors confirmed that he had regained his sight and hearing apparently from the
flash of lightning but they were unable to explain the occurrence. The only possible explanation offered by
one trauma in a terrible accident, perhaps the only way it could be restored was by another trauma.
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Question 14: Which of the following statements is NOT true?
A. Edwards awoke with his face in a puddle of water.
B. Edwards was unconscious for twenty minutes after the lightning had struck him.
C. Doctors believe that Edwards was never really blind or deaf.
D. Edwards had been blind for nine years.
Question 15: What was the reason given by doctors when Edwards regained him sight?
A. Because the trauma that blinded him was very severe, it took another very severe trauma to restore his
sight.
B. He regained his sight from the head injury when he fell from a tree.
C. He was very happy after his wife entered the room for the first time in nine years.
D. The lightning took the feeling from his legs and gave feeling in his eyes.
Question 16: What caused Robert Edwards’s blindness?

A. He fell down in his yard. B. He was very old.

C. He was struck by lightning. D. He was in a car accident.
Question 17: What was the first thing he saw after being struck by lightning?

A. lightning B. his wife C. atree D. aclock

Mark the letter A, B, C, or D on your answer sheet to indicate the'icorrect answerito each of the
Jfollowing questions from 18 to 19.

Question 18: When we were on the phone, the cross line was . because of a wrong connection.
A. obtained B. continued C. interrupted D. harboured
Question 19: This is the firsttime I Thailand.
A. had visited B. visited C. visit D. have visited

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 20 to 23.

In American high school, students move from one class to another and study each subject with a different
teacher and a different groupfof classmates. Many high schools have a tracking system, which groups students
according (20). __ _academig ability and motivation. (21) __, more capable and hard-working students take
more diffieult courses. (22)  on the subject, classes may be offered at two, three or even four different
ability levels.\High school students have a very busy day. They have to take five or six academic subjects, do
physical education, and take part in the school band, school newspaper, athletics, drama or clubs. However,

these school (23)  are worth doing because they help them to develop talents and gain greater self-
confidence.

Question 20: A. on B. for C.to D. in

Question 21: A. However B. Because C.If D. Therefore

Question 22: A. Agreeing B. Depending C. Objecting D. Talking

Question 23: A. actively B. activities C. activity D. active

Question 24: Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in
meaning to the underlined word in the following question.

TV presents information in a more effective way.

A. receives B. entertains C. introduces D. produces

Section B (2,0 points)

L Finish each of the following sentences in such a way that it means the same as the sentence printed
before it. Write your answers on your answer sheet. (0,5 point)

Question 1: The farmers have cut a lot of trees for firewood.

B NERBE .o sl e b el s e e e B 51 o r o s wwmny pooy

Question 2: I took Alice out for dinner last night.

e R - | SO ?

II. Write a paragraph (about 80 — 100 words) on your answer sheet about the disadvantages of living in
the countryside. (1,5 points)

The following prompts might be helpful to you.

- Lack of entertainment and health medical care services

- Poor quality of education

- Fewer chances of finding jobs

THE END.
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| TIENGANH 132 KA 025

~ TIENGANH _ 132 18 ] D | e8]
TIENGANH || 132 19 @ 025

" TIENGANH, | 132 20 -0 D 0,25
LTIENGANH 132 2 B 025
TIENGANH e 28 D 025
TIENGANH 132 23 A 0,25
TIENGANH 132 24 D 0,25

~ TIENGANH 209 1 pi < 0,25
TIENGANH 200 | 2 | b | 025
TIENGANH | 209 s i B i 025 |
TIENGANH 209 4 I | o025 |

~ TIENGANH 209 5 A Lo 1]
TIENGANH | 200 | & | B | 025

| TIENGANH 209 7 A 0,25
TIENGANH | 209 8 B 0,25

CTIENGANH | 209 9 C 0,25
TIENGANH 200 10 B 0,25
TIENGANH | 209 M1 c 025
TIENGANH 209 12 — e - J'pss
TIENGANH | 209 [ ;. D 0,25
TIENGANH 209 14 B i EEee

| TIENGAN 200 15 ] B | 025
TIENGANH | 200 | 1 | c 025
TIENGANH | 209 7 B 0,25
TIENGANH 209 18 (X 0,25

" TIENGANH 209 | 19 A 0,25
TIENGANH 209 20 D LT el
TIENGANH | 209 2 N Al 1. bEs
TIENGANH 209 2 1 & Lk; I LeEa

~ TIENGANH 200 | 23 | BN 028 |
TIENGANH 209 24 A 0,25




Ma mén Ma aé Cau hoi Pép an Diem
TIENGANH 357 1 D 0,25
TIENGANH 357 2 0 1 0,25
TIENGANH 357 1T 3 o L] st
TIENGANH 357 1 4 T oy 025
TIENGANH 357 . 5 % B 0,25
TIENGANH 357 6 | A | oz
| TIENGANH 357 E O
| TIENGANH | 357 8 B 0.25
TIENGANH 37 9 A 0,25
TIENGANH 357 ) 10 | oy £ 0,25
TIENGANH 357 11 | B 0,25
TIENGANH 357 12 BB 0,25
TIENGANH 357 RE B P25,
TIENGANH 357 14 Gy | 025 fﬁ
| TIENGANH 357 15 e ~ J0,25
TIENGANH | 357 15 o J\B\ 0,25
| TIENGANH 357 17 £ ) LA 0.25
TIENGANH 357 e C 0,25
TIENGANH 387 W19 SRR LT
TIENGANH 357 #~» \\ 0 A 0,25
TIENGANH |  o/35% | 21 C 0,25
~ TIENGANH _ 357 2 A | 025
TIENGANH || 357 23 " 0,25
[ TIENGANHY 357 24 | D 0,25
TIENGANH 485 | 1 B 0,25 T
TIENGANH 485 2 A 0,25 ~
TIENGANH 485 3 | A | 025 S¢
TIENGANH 485 4 c 025 A0l
TIENGANH | 485 5 | RN R T ADAC
~ TIENGANH 485 6 A 025 <5
TIENGANH 485 7 B 0,25 ==
TIENGANH 485 8 A 0,25
TIENGANH 485 9 B 0,25
TIENGANH 485 10 D . | 928
TIENGANH 8 | 11 D | 025
TIENGANH | 485 12 B 0,25
| TIENGANH 485 13 T 025
~ TIENGANH 485 T w4 1.6 | 48
TIENGANH | 485 15 - Ay, 1 ds
CTIENGANH | 485 16 D 0,25
TIENGANH | 485 17 D 0,25
~ TIENGANH 485 18 k] 025
TIENGANH 485 19 D 025
TIENGANH 485 20 | O e v N vem
TIENGANH 485 2 D | o025
TIENGANH 45 | 2 | B 0,25
TIENGANH 485 23 B 0,25
TIENGANH 485 24 e 0,25




SECTION B (2,0 points)

L Finish each of the following sentences in such a way that it means the same as the

sentence printed before it. Write your answers on your answer sheet. (0,5 point)
(Moi cdu dung 0,25 diem)

CAU NOI DUNG PIEM
1 A lot of trees have been cut for firewood by the farmers. 0,25
2 When did you take Alice out for dinner? 0,25
I1. Write a paragraph (1,5 points)
Tiéu chi Chi tiét 2
iem
Cau tric doan vin o 01
B cuc Chu d¢ dan L \G.L
Sap x€p y , WA
Cau két luan y 0,1 |
Lap luén, dan chimg, vi du 0,15
sl ol Phét trién ¥ 0,15
Phat trién y - ndi dung Lién k&t y 0,15
S6 luong tir 0,1
Phi hop ngidung chu dé 0,1
St dung ngén tir PhiLhop vén viet 0,1
hDa.dang vé cau tric va tir vung 0,1
Sirdung ding diu ciu 0,05 |
Ngit phap, d4u cau vaichinh'ta || Sir dung thoi, thé, cau tric diing ngit phap 0,1
Viét diing chinh ta 0,1
Cong 1.5




